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P en

XML £ 8 HTML
R e
HTML5 4~ 48+ £ % 7 % 3 (Presentation) =p > @ 2 % %

TR
<html>
<B>% = ¥ <IB>%e<I>F A R </I>
</HTML>

R B LSy

<HTML>

Compag N610C laptop <br>

<B>Spec</B>: Pentium 4-M 1.8 G CPU, 256 DDR, 30G HDD, 8X DVD<br>
<B>Price</B>: NT$70,000

</HTML>

= Compaq N610C laptop
Spec: Pentium 4-M 1.8 G CPU, 256 DDR, 30G HDD, 8X DVD
Price: NT$70,000

O = 252007 14-2

ORI L B Em S T 5 2R = A




B e (Cont.)

= XMLep hf B2 R 7 0 7 e 2 foaTeig E A

<laptop>
<name> Compaq N610C laptop</name>
<spec>
<cpu> Pentium 4-M 1.8 G</cpu>
<memory>256 DDR</memory>
<hdd>30G</hdd>
<dvd>8X</dvd>
</spec>
<price> NT$70,000</price>
<warranty term=" 6 months” restriction="effective only in Taiwan” />
</laptop>
" PERRERTERE A STEFRY FRDDE R F D
= XML (7 3% hifen 55 ) o 8a i sk g o it
= ¢ &% B-C (Business to Customer) §vB-B ( Business to
Business) # & 7 Axinfk it

O =252007 14-3
SRR A% B R BB 5 B =

e

N4
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G A e

wF - FFAL&SEHE - B2E (Element)

w- B3R - B ZEchs (start) £ ~p Z - B
24 (end) &4 (%% # GIXML)

laptop

Ny

name Spec price warranty

| cpu || memory || hdd H dvd | 14-4

T TR G = )= Epm—) )'q




XML=33% 2 (Cont.)

n - FAE
%%ﬁﬁ%&ikﬁ%%@ﬁ
<laptop>
<name> Compag N610C laptop</name>
<spec>
<cpu> Pentium 4-M 1.8 G</cpu>
<memory>256 DDR</memory>
<hdd>30G</hdd>
<dvd>8X</dvd>

</spec>
<price> NT$70,000</price>
<warranty term=" 6 months” restriction=

</laptop>

g - BB B - it B

=" effective only in Taiwan”

/>

= RFEA
Ogir f?fﬁ??i : &1 <1 >) ‘! ‘ft" “

= & &amp;
< &lt;
= > &gt;
= &apos;
= “ &quot;

@) 17 Al > 5 & Ali+1] < 10
<equation>
A[i] &gt 5 &amp Afi+1] &It 10
</equation>

XML 2% % (Cont.)

RERFGEFE > AE 4T




= 4 7 % <|[CDATA[fc]]>#-H B4 &

<?xml version = “1.0" ?>

<book title = “c++ programming” >
<sample>

<I[CDATA[

/I c++ comment

if (this->getSalary()>30000 && value[0]!=3)
cerr << this ->displayError();

11>

</sample>

</book>

Ry 13-1

w FFEET XML B &
<library_books>
<book>
<call_number> 423.21 8744 </call_number>
<title> 4rir § 1B FH FBRI-ATH 4 <ftitle>
<author>3k ~ g </author>
<author>% = '# </author>
<publish company = “f ik d15%<4L” ,year= “%93#”  place= “:

A7 >
<price>400</price>
</book>
</library_books>
= Ans:
Wi - 230 3 087 4o § BARBERTHE T 5 kL5

423218744 > it ¥ RE X e <% o d BHARATA KO3 E &
A5 7 0 M 5400 o

7
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2

= 2 RARB DL R ERIIT G A RDR A
XML%] 5 & % 32 B (namespace) %4

= 2R T GePXMLY #25 B & L2 & collegedr
kindergarten
<?xml version = “1.0” ?>
<directory xmlns:college = “http://www.mis.nsysu.edu.tw/db-
book/college” xmins:kindergarten =
“http://www.mis.nsysu.edu.tw/db-book/kindergarten” >
<person>
<name>3& = </name>
<college:student major = “F ¢ =" />
<kindergarten:student years=2/>
</person>
</directory>

%2007 14-9
s =

HRHEE A% L i

DTD

s BB AR Y XMLY BB E S S

= iR AKEAF AR FIOAR
<IELEMENT examplel ( example2 )>
<IELEMENT example2 ( #PCDATA )>
= XML~ 2 ep G DTD¥ 11 7 & a32XML~ 242 >
fL 5 P 45 DTD
<IDOCTYPE examplel [
<IELEMENT examplel (example2)>
<IELEMENT example2 ( #PCDATA )>
1>
<examplel>
<example2>This is a test!</example2>
</examplel>

%2007 14-10

SRR A% B GR BB 5 BE =




DTD (Cont.)

» 2 FHDTDez 2 2305 - B > RS aXML®
iim s » 3ZDTDAh % o B> AL 5 hene 2
«®XML= &

<?xml version = "1.0"?>
<!I-- Using an external subset -->
<IDOCTYPE examplel SYSTEM "test.dtd">
<examplel>
<example2>This is a test!</example2>
</example1>
=DTD# % (75 =test.dtd)
<l-- test.dtd -->
<!I-- External declarations -->
<IELEMENT examplel (example2)>
<IELEMENT example2 ( #PCDATA )>
%2007 1 14-11

AORHER A% O B G BB 5 55 = iR

s - BXMLAZehp 27 e 28BF A o0

FAF Tl AT G 0T B
®R nl;,“}?;,

<IELEMENT family (father, mother, son, daughter)>
® 5 E-

<IELEMENT member (teacher | student | alumni)>
®0-1=x

<IELEMENT family (father?, mother?, son, daughter)>
«®0-% =x

<IELEMENT family (father?, mother?, son*, daughter*)>
®1-% =%

<IELEMENT family (parent+, son*, daughter*)>

1%
I

%2007 14-12
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DTD (Cont.)

= RPN F IR

®p FE S F D FEMPTY
<IELEMENT oven EMPTY>
miovent L3 pE (270G HiLiE)

R ;,ﬁ_;gg R J‘z—r—%ih—:‘;{{:‘i:
<IELEMENT test (#PCDATA)>

P FETREFEAT AR
<IELEMENT testl (#PCDATA | test2)>

wf R EA mEPRE L  ANY
<IELEMENT data ANY>

%2007 14-13

ZHEE I OB S B 15 5 = R

DTD (Cont.)

= DTD: R 2
<IELEMENT example (#PCDATA)>
<IATTLIST example att CDATA #REQUIRED>
= DTDAZ = & 7 T 73| f§
® F 8 ! * CDATA %7
<IATTLIST department name CDATA>
&®ID : *ID &7 o IDAEAFHA2FT L 2209 > %7 0 Tab® & I§

R
<IATTLIST department dno |D #REQUIRED>
& IDREF : * IDREF # 77 ° IDREFZ] & e 2 B & 7 3R DA
<IATTLIST student dnum IDREF>
¥ 7] (enumerated) @ X TFHRTEBTLE *T |7 A

<IATTLIST student gender (M|F) “F’ >

22007 14-14
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<?xml version ="1.0"?>
<|—A DTD example -->
<IDOCTYPE library [
<IELEMENT library (branch+, book+)>
<IELEMENT branch (name, address)>
<IATTLIST branch branchID ID #REQUIRED>
<IELEMENT book (#PCDATA)>
<IATTLIST book inBranch IDREF >
<IELEMENT name (#PCDATA)>
<IELEMENT address (#PCDATA)>
1>
<library> FEXMLEEERIXML X 8 B &% (Well Formed )
<branch branchID ="b1">
<name>.1 W § 4</name>
<address>3Z 1 + if - H</address>
</branch> T EHFEDTDERAIXMLI B AAR (Valid)
<branch branchID ="b2">
<name>< ;7 Wl # 45</name>
<address><¥ ¥ + if - ¥u</address>
</branch>
<book inBranch ="b2">
doie § T AT AR AT B <
</book>
<book inBranch ="b2">
drofr FRFRE
</book>
<book inBranch="b1">
JAVA-L x g & £ p
</book> O =252007 14-15
</library> ZHEE I OB S B 15 5 = R

WY 14-2

= B Y 14-19DTD
= Ans:
<?xml version = "1.0"?>
<!|—A DTD example -->
<IDOCTYPE library_books [
<IELEMENT library_books (book+)>
<IELEMENT book (call_number, title, author+, publish)>
<IELEMENT call_number (#PCDATA)>
<IELEMENT title (#PCDATA)>
<IELEMENT author (#PCDATA)>
<IELEMENT publish EMPTY>
<IATTLIST publish company CDATA>
<IATTLIST publish year CDATA>
<IATTLIST publish place CDATA>
>

O = 252007 14-16
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Ry 14-3

] IZTXML‘?I * q‘— II}F I
[ERO- R 24

<oxml version = "1.0" 2> <branch branchID ="b2">

<name>< i 7 W # 4</name>

<|—A DTD example --> > & 4 E
<IDOCTYPE library [ <addcrﬁis> LR

<IELEMENT library (branch+, book+)> <«— JZHEFbranchIDE:
<IELEMENT branch (name, address)> i s

g 4
<IATTLIST branch branchiD 1D Mame=ALW ¥ ailies

#REQUIRED> SRR gy 1
<IELEMENT book (#PCDATA)> <book |.nBranch ="b2">;47 address Tz
<IATTLIST book inBranch IDREF> o ie § A R IATEE 4
<IELEMENT address (#PCDATA )> </book>

1> <book inBranch @
<library> drin FREFHRE
<branch branchID ="b1"> </b°°k,>

<name>Z.1 §# 4E</name> <book inBranch="b1"> -

<address># 1 + if - #.</name> A W D3 B
</branch> </book>

</library>

©F —1:2007 14-17

W3C Schema

= W3C#7# ! j2;4-DTDe < 4% 8L ¢
=} UHT A E
= 2LXML3E %

= XML Schemag —k,—.\ fRA P R gEa d W3CH13k H)
XML 3 42 8o = ﬁ;’t;,’;:—,\ XML Schemag &
# B~ RDTD S 2 XMLF 4L %k AT H 2 o

- & Schemaj HH & {Eiﬁéf%é& <schema g
{;: fiEfi</schema>» ¥ 4 H ¢ 7 24 - & fu'%
& Schemakgz i i #1427 1 3y o FKSchema T Eh L%

[

@7k iy £ 7 14| * <element name "XxX" type="yyy"
mmoccurs 'a” maxoccurs="b’ .

©F —1:2007 14-18




W3C Schema

¥ * hff E AR e F
= boolean : O (false) & 1 (true)
= byte - BFE
= string © F 8
= date : p # 3] &
= time : PFR A A
= integer - A #k
= positivelnteger : & A #c
mid @ 2u- BAE AR
= idref : — B $Fid %

%2007 14-19

W3C Schema ( Cont.)

XML Schemaxs 3 i p 74 = 4 & 4] i
= 4F & Al ehe 432 b fode R ft<complexType>{r
% kiR </complexType>® B 7| I H #re 3 o {e
Bt
B AR F ey UT 2
al: 27 AFNNRIAEF L RERBAET T NRAZE-
=
asequence : %t & & & A )
ochoice : 27 7 EH PR 2 F

%2007 14-20
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W3C Schema ( Cont.)

g

F. ¥R frie iR di<element -->fe g |
HEfi<lelement> > ¥ 4@ B H (A5 L)

= R & <attribute name =" xxx”,
type="yyy’ ...>k 7 £

14-21

%2007

ORHEEAYAZ o B B T 75 5

W3C Schema ( Cont.)
/ZISSchemaE’\JE)F%ﬁa‘%ﬁf'aﬁ

<?xml version = “1.0” ?>
<schema targetNamespace="http://www.mis.nsysu.edu.tw/db-book/lib/"

xmlns=http://www.w3.0rg/2001/XMLSchema
Xmins:lib=" http://www.mis.nsysu.edu.tw/i ook/lib/">
<element name = “library” > EEie il
<complexType> eCal TN
<sequence> SRR Rk A S
<element ref= “branch” maxOccurs= “unbounded” />

<element name = “book” ty/pe= “lib:bookType” minoccurs= “0”
maxOccurs= “unbounded” />
</sequence>
</complexType>

LibraryEE&{Ebranch g {Hbook

</element>

%2007 14-22

ORHEERYAZ o B B T 75 5
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W3C Schema ( Cont.)

<element name = “branch” >
<complexType>
<sequence>

<attribute name = “branchID” type= “id” use= “required” />
<element name = “name” type = “string” />

<element name = “address” type= “string” />

</sequence>
</complexType>
</element>

<complexType name = "DboOKIype >
<simpleContent>
<extension base="string">

<attribute name = “inBranch” type = “idref” />
<attribute name = “price” type= “positivelnteger” />

</extension>
</simpleContent>
</complexType>

EFzbranchit®

</schema>
EFEbookTypeZlss
O =252007 14-23
ZHEE I OB S B 15 5 = R
a7 y 2 ~ 5
3 XML~
<?xml version = “1.0”
<library 4 2L A L7 P
XmlIns="http://www.mis.nsysu.edu.tw/db-book/lib/" « ﬁﬂnp:&lﬁzﬁ

xmins:xsi="http://www.w3.0rg/2001/XML Schema-instance"

xsi:schemalocation = “http://www.mis.nsysu.edu.tw/db-book/lib/ibrary-schema.xsd>

<branch branchID ="b1">
<name>21 i # 4</name>
<address>1® 1 + i - ¥.</name>
</branch>

<branch branchID ="b2">
<name>< ;i W # 4</name>
<address>¥ ¥ + i - #.</name>

<branch branchiD = “b3” >
<name>#. W # 4:</name>

<address>+ & & - #.</address>

</branch>

<book inBranch ="b2“ price = 400>
doie § T AR AR SR 4

</book>

<book inBranch ="b3“ price = 500>
i FETHE

</book>

<book inBranch="b1">
JAVAL X g ip

</book>

</library> v
O= 72007

2o I L B R B B 5 SR =

Schemafr &

14-24
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W3C Schema ( Cont.)

s B SRTAL 5 M AR A AXMUBAE § Ak a2t B
= ¥ g T ¥ - BW3C Schemaiti % (# % %4 5 library-schema2.xsd )

<?xml version = “1.0” ?>

<schema targetNamespace="http://www.mis.nsysu.edu.tw/DB-book/"
xmlns="http://www.w3.0rg/2001/XMLSchema" >

<element name = “library” >
<complexType>
<seguence>
<element name = “branch” t
maxOccurs= “unbounded” );

<element name = “book” type= “bookType” minoccurs= “0”
maxOccurs= “unbounded” />

</sequence>

</complexType>
</element>

pe = “branchType”

©%F —232007 14-25
SRR A% B R BB 5 B =

W3C Schema ( Cont.)

<complexType name = “branchType” >
<sequence>

<element name = “branchID” type = “string” />
<element name = “name” type= “string” />
<element name = “address” type = “string” />
</sequence>

</complexType>

<complexType name = “bookType” >
<sequence>
<element name = “title” type = “string” />
<element name = “inBranch” type = “string” />

<element name = “price” type= “positivelnteger” minoccurs= “0”
maxOccurs= “1” />

</sequence>
</complexType>
</schema>

©%F —232007 14-26
SRR A% B GR BB 5 BE =
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Valid XML using W3C-Schema

<?xml version = “1.0”
<library
Xmins="http://www.mis.nsysu.edu.tw/db-book/lib/"
xmins:xsi="http://www.w3.0rg/2001/XMLSchema-instance "
xsi:schemaLocation = “http://www.mis.nsysu.edu.tw/DB-book/ibrary-schema2.xsd” >
<branch>
<branchlID>b1</branchID>
<name>3L 1 W $ 4F</name>
<address>#2 1 + if - $.</address>
</branch>
<branch >
<branchlD>b2</branchID>
<address>< j # W 4</address>
<address>< § * if - B.</address>
</branch>
<book >
<title> 4eir ¥ i 450 B -7 < <Jtitle>
<inBranch>b2</inBranch>
<unitPrice>400</unitPrice>
</book>
<book >
<title>4rin F RFHE </title>
<inBranch>b2</inBranch>
<unitPrice>500</unitPrice>
</book>
<book >
<title>JAVAL X g & £ p </title>
<inBranch>b1</inBranch>

</book> g
</library> it 3
2 3 3
Ry 14-4
- ;%—"3 41 5y 14-1¢schema
R ANS:

<?xml version = “1.0” ?>
<schema targetNamespace="http://www.mis.nsysu.edu.tw/db-book/lib-books/"

Xmins:lib-books="http://www.mis.nsysu.edu.tw/db-book/lib-books/"
xmlIns="http://www.w3.0rg/2001/XMLSchema" >

<element name = “library_books” >

<complexType>

<sequence>

<element name = “book” type= “lib-books:bookType”
maxOccurs= “unbounded” />

</sequence>
</complexType>
</element>

©F{=252007 14-28
ZHE I OB S B 1S 5 = PR
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# Y 14-4 (Cont.)

<complexType name= “bookType” >
<sequence>
<element name = “call_number” type = “string” />
<element name = “title” type = “string” />
<element name = “author” type = “string” maxOccurs= “unbounded” />

<element name = “publish” type = “lib-books:publishType” />
<element name = “price” type = “positivelnteger” />

</sequence>
</complexType>
</element>
<complexType name= “publishType” >
<sequence>
<attribute name = “company” type = “string” />
<attribute name = “year” type= “string” />
<attribute name = “place” type = “string” />
</sequence>
</complexType>
</schema>

©%F —232007 14-29
AORHER A% O B G BB 5 55 = iR

XML~ i e ae

= 3 f;é_ﬁ:;‘ v & R R ¥ API % 3 BXMLAY % ?n‘—'
« DOM ( Document Object Model )
= — BXMLFE %R d 247 B(Parsen)i » & > AT "o Bima) = - BaHk
S
= SAX (Simple API for XML )
= SAXT % gﬁﬂ%}d&—fgfﬁXML;}ﬁﬁﬁf > oo B4R E— APk FRBE- XML e
WA F AL

o= XPath
n R - B EPAH S
o= XQuery

m #F i XPath » % 352 5 AF 38 0 T 1L RURAR JeniE i 40 E
= XSL (Extensible Stylesheet Language )

= 2k ZXML* @ e (Style) » o HEES T - BXMLAES « HMLE, % -
£H s g %

©%F —232007 14-30
AORHER A% O B G BB 5 55 = iR
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5,45 - XML &

<Book color="red”>
<Title>IES XML Programmer’s Reference</Title>
<Pages>481</Pages>
<ISBN=>1-861001-57-6</ISBN=>
<RecSubjCategories>
<Category>Internet</Category=
<Category>Web Publishing</Category>
<Category>XML</Category>
</RecSubjCategories>
<Price>49.99</Price>
</Book>
</Catalog>

s8] -
DOM Tree

Text: “red” [Fext :“IES XML "] Text : "480” Text : "1-8610..-67] Text: “$49.95”

. Text: "
Text: “Internet “Web Publishing” Text: “XML’




XQuery

= XQuery &£ ¥ A XPathz. F 3% g 3% &
HF i
m %@ &)
FOR $r IN doc("library.xml")/branch[branchlID]
LET $b:=doc("library.xml")/book[inBranch=$r]
WHERE count($b) > 100000
RETURN
<big-branch>{<branchID>{$r}</branchID>,
<bookcount>{count($b)}</bookcount>}
</big-branch>

©F =252007 14-33
J SmEE S =R

FHEE L AHXML L

« XML:h% EDBMS 13 {25 8
= % % % HDBMS it i chisb i BT XML 2
% egd ~ 'frﬁ 4!

= 7 Oracle 5 &

©F —1:2007 14-34
J EEEl g
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XML » DBMS 5 # 4

R H g N - BXML 2p 3R -
BB
w A2 - BERA KT T XML?
CREATE TABLE xml_doc (
docname VARCHAR2(100) PRIMARY KEY,

doc CLOB,
insertdate DATE DEFAULT SYSDATE);

& F1* et gz 0 (insertXML » 2 - & PL/SQLAZ
2 XML 373 %27 TR A eh- ek
@ JIr AN ke B XML 2

O = 252007 14-35
S RHEEAIAZ B s B B 5 58 = R

XML# » DBMS 17 4 (Cont.)

F - VAR BXMLR #iE - R
+ oy - 2 5503 & S
0 T BB B R BAR 5
@ A4 - BEREKEF- BXML2 2 .
CREATE TABLE empleados (empid NUMBER PRIMARY KEY,
empname VARCHAR2(30),

empjob VARCHAR2(30),
empsal NUMBER);

& F1* et gz 8 (insertXML » 2 - & PL/SQLAZ
) XMLz # %~ 22 T A

&
;

Ri

O = 252007 14-36
SRR AIAZ O B B B 5 58 = R
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DBMS:H s £ 4 I XML= 2

create or replace type nested_type as object (c1 number(5), c2
varchar2(30));

create or replace type nested_type_table as table of nested_type;
create table nested_sample (
fieldl number(5),
field2 nested_type_table
) nested table field2 store as nested_table;

et ed g v4 g2 58 (XmIReadFromDb » 2 - & javafz
) KRBT A DD - XML

%2007 14-37
ZHEE I OB S B 15 5 = R
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